Calculation Policy: Division
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Each child gets 2 cookies.

Grouping equally
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There are 4 boxes of 2 cans

Solving Problems

Ruby has 15 marshmallows
She packs 5 marshmallows into each bag
How many bogs does Ruby need?

Method1 Use gy tostand for

Use i for each bag
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Ruby has 15 marshmallows
She packs 5 marshmallows into each bag
How many bogs does Ruby need?

Method2 Drow a picture

Ruby has 15 marshmallows.
She packs 5 marshmallows into each bag
How many bags does Ruby need?

Mathod 3  Usa a division equation
.-
Ruby needs = 8 bags

Grouping: ‘equal groups’

Put 8 ® into 4 equal groups.
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Number bond strategy:
Division

Gtans s 2

fuwi? 68 -2 =34
~
g\, 60 3

‘-./'-:_
" Gtens<2 8ones+2 %\

= A

-4 ones

Grouping with remainders:
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The Guatient is 5 and the remainder s 1.
Each friend gat § balloons.
There was | balleon left over:

Divide using multiplication:

24+3=8
3x8=24

Dividing by 1, 10 and 100:
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Each greup S ¢ strowberries

Grouping with remainders:

There were 11 ballooms,
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11+ 2 <5 remainder |

The quatient is 5 and the remainder s 1
Each friend gt § balloons.
There was | balleon left over.

Divide using multiplication:

24+-3=8
3x8=24




Dividing with
renaming
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Solving word problems:
Bar madel "

Number bond and long division:
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Divide without remainders:
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Divide with remainders:
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Divide without remainders:
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Divide with remainders:
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Tong division Using place value counters
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000s | 00s | 10s. =

[0000 | We can't group 2 thousands into
© groups of 12 o will exchange them.
1000s | 100s | 105 s
TOOB | We can group 24 hundreds 12%
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After exchanging the 2 tens, we 12[254
have 24 ones. We can group 24 ones 2

into 2 group of 12, which leaves no remainder. 1‘;
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